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03 & At2 Gl 6,500 3,200 3,300
o tMEoEs F& 50,0003 * 28 * 1204 1,200
o DISY=E AELUF Al 2,000,000 2,000
o DML eHE WE AA 3,300,000& 3,300
202 04l 3,060 3,060 0
01 = LH 4 HI 3,060 3,060 0
o OHEF XN HAHY =X
20,0008 = 3" * 51 3,060
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o QML =4l 7,000& = 50 » 30 10,500
Mt 2 A& 10,000 10,000 0
206 = Hl 10,000 10,000 0
01 =8l 10,000 10,000 0
o MuHAINR SH=E M X B
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MAE etEstI = 2,000 3,000 21,000
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201 LBt 2,000 3,000 A1,000
= 1,000
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01 At 2t 2l 2,000 3,000 A 1,000
o WIS AEE=EH
50,000& = 5& = 8K 2,000
= 1,000
< 500
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AL AR FA 279,672 17,672 262,000
201 LB-2d| 9,072 9,072 0
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o A2 A
7,000& = 6H » 182 » 123 9,072
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01 XA E B F S| 10,000 0 10,000
o QIFEAMY AR Py L
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SESHQ 2K 40,199 26,599 13,600
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< 2Bt ZH| > 0
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o SEll%g 70,000 = 100H 7,000
o WHA BTHX =2 242
550,000& = 30Z X 16,500
< Z2gHH| > 0
o Z/MA 22EL2 Hel
7,0008 * 3% * 1193 2,499
202 o4 | 4,200 4,200 0
01 2L I 4,200 4,200 0
o =S MA B0l & AEJ R A}
20,000& = 5% x 42¢ 4,200
CS2EE6 I 2,800 2,800 0]
cados 4 2,800 2,800 0
201 et | 2,800 2,800 0
01 AR 22l ] 2,800 2,800 0
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=3 60,100 54,100 6,000
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ozl 29 60,100 54,100 6,000
301 et A= 60,100 54,100 6,000
03 AsSAHAIR A 60,100 54,100 6,000
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44,200 « 5008 * 13 22,100
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o QgSNs 23 - NTYP =X
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= 2,220
< 1,554
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o 018t ShMBE &Yl 2 37,0002 * 20074 7,400
= 2,220
& 1,554
= 3,626
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37,000 = 34104 12,617
o 0IE N LE=E P¢
2,000,000& = 1CH 2,000
OHEOY SIS X 15,800 16,000 A200
307 2Iz2t0| & 15,800 16,000 A 200
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01 = LH 4 Hi 3,200 3,200 0
o SEZMUE gF =&
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02 =224l 417,630 319,325 98,305
<SEQsZLHA > 0
o SYZMUE 8224 AIEE 169,744
- JIE 3 96,000& = 1263l& = 12& 145,152
- AR g 96,000 * 193]& = 8& 14,592
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= 37,000
01 Al&H| 74,000 0 74,000
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= 37,000
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o Tz gF F&X 7,000& * 5 * 67 2,345
02 3524t 37,200 35,200 2,000
< 3S3LSBYLAA > 0
o LB AN4E HIL= 16,800
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401 Al HI L 2 0HHI 139,000 97,000 42,000
01 Al&H| 139,000 97,000 42,000
o HASAHE &X 9,000,000 * 11= 99,000
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15,000,000& * 1JH A 15,000
o SotH SHENS sZ2EHAY
20,000,000& *» 10H A 20,000
o S5l HSOHS(2HE) == ZHIALL
24,000,000& * 1004 24,000
o S5t Z00t2 2L s2 ALY
20,000,000& * 1JH A 20,000
o SotEHIICI0NE MYE NHEUHLE XS A
45,000,000 * 1JH A 45,000
03 A& =2 THHI 13,500 5,743 7,757
o A2 FREHAAMHFD 13,500, 000& 13,500
ot F ol 4,257,449 7,849,344 23,591,895
= 2,296,000
= 12,000
[ia 1,949,449
TEd stEs XLl 4,257,449 7,849,344 A 3,591,895
= 2,296,000
< 12,000
[ia 1,949,449
SHE M Z bl 51,344 51,344 0
201 Let2d] 1,344 1,344 0
01 At 22l 1,344 1,344 0
< Sl > 0
o otd&egR F&A 7,000& * 3% x p4L 1,344
401 Al& B2 2B 50,000 50,000 0
01 A& HI 50,000 50,000 0
o ofd MZEHIAS 50,000,000& * 10024 50,000
SHEJIE M BHIAY 47,105 24,000 23,105
< 12,000
[ia 35,105
201 et 1,605 0 1,605
02 =224l 1,605 0 1,605
< AIEEUIKXH > 0
o WHI 5FHl
1,833.46& » 254 » 72 * 53] 1,605
206 M= Hl 1,500 0 1,500
01 =8l 1,500 0 1,500
o A2 4HIE 300,000& * 53| 1,500
401 Al B2 2B 44,000 24,000 20,000
< 12,000
e 32,000
01 A& HI 44,000 24,000 20,000
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X{ XH -
S =

el

(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o SIEIIAEM HUIAS(E2MAH & EHID])
2,500,000 * 404 10,000
o GHEANEERNBE(ISE S)
5,000,000 = 2JH A 10,000
o SIEIJIAH EHAE  2,400,000& * 100H 2 24,000
= 12,000
= 12,000
AoIEEH ALY 1,992,000 2,512,000 A 520,000
= 996,000
= 996,000
401 Al HI L E0HHI 1,992,000 2,512,000 A 520,000
= 996,000
= 996,000
01 Al&H| 1,984,829 2,507,000 AB522 171
o AGHAEAH|I ALY (5.46km) 1,984,829,000& 1,984,829
= 996,000
= 988,829
03 AlE 201 Y| 7,171 5,000 2,171
o AGIEEHAIY =& 7,171,000& 7,171
MEISIE A 2,167,000 1,167,000 1,000,000
= 1,300,000
= 867,000
401 Al HI L £ 0HHI 2,167,000 1,167,000 1,000,000
= 1,300,000
o 867,000
01 Al& B 2,162,000 1,162,000 1,000,000
o 4N MEIGIE XAHAY
2,162,000,000& = 1J0# A 2,162,000
= 1,300,000
= 862,000
03 AlEE2HH]| 5,000 5,000 0
o MENSIA ZHAIYE F=&X 5,000,000& 5,000
SEL MEZ2R X4 10,531,858 3,823,906 6,707,952
Xl 6,204,899
= 4,326,959
EEL MEj2t2] 10,531,858 3,823,906 6,707,952
Xl 6,204,899
= 4,326,959
=22 JIRIIAE 190,358 185,920 4,438
101 e1214| 83,424 75,187 8,237
04 JIZtHI22XNHEE S 83,424 75,187 8,237
o BEY MEB(SHAR)
76,8003 * 3Y¥ x 140& 32,256
o x3tg A 2 HMEZA(Z0HD])
5,0008 * 109 * 42 18,900
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%%*E*c'iEH-?.—% x4
EZ dejzel (&)
A ZE a9 (3) - HRAY - BYS Ol &t o San HmEET
o XNEAZ EHIN(SEAUR)
76,800& * 3F * 9 * 123 24,884
o AHEE = 7,384
- #EY Mpze(SEAR)
32,256,000& * 12% 3,871
- X232 AN ¥ M= (E0II)
18,900,000& * 12% 2,268
- MHEHY EHO(SEAR)
24,884,000& * 5% 1,245
201 Let24dy] 20,134 23,933 A3,799
01 At 22l 4,104 4,196 A92
< YEt=2Hl > 0
o BEEE QoHU2ZHE ¥ ZeidtEe
250,000& = 6H 1,500
< S EHl > 0
o HEL HPIIMNY P2 =X
7,0008 * 398 * 124 2,604
02 2524l 16,030 19,737 A3,707
<3S ZLAHAM > 0
o St&EA MIIL3 40,0003 * 40 x 123 1,920
o 20 &dJIe=s 300,000& = 123 3,600
o ZEJ| MIIL3a 13,000 * 210Ha « 123 3,276
< AEEHIKXH > 0
o AHIY, MOAIIINAH SFUI
1,833.46& = 1,000 1,834
o 3t&E4 |2l 300,000& * 8JH A 2,400
o &CIZI] J1H =22yl
250,000& = 12& 3,000
202 o4dl 2,800 2,800 0
01 = LH 4 1l 2,800 2,800 0
o BEA NPIANY AL XX
20,0003 = 4% = 35« 2,800
206 M= Hl 20,000 20,000 0
01 =8l 20,000 20,000 0
o xR A 7Y 25,000& » 2& * 160kg 8,000
o &C 2 2,000& = 2,000m 4,000
o =Sgdlz , gSEH S 20,000& » 300 6,000
o 2Z4HIS 200,000& = 103 2,000
401 Al HI K 201 I 64,000 64,000 0
01 A& Bl 30,000 30,000 0
o N2 R B+ 1,500,000& * 10& 15,000
o +2BR(NINY, HYH)
15,000,000& * 13l 15,000
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ALY
EZ dH3d =4
2 dej2e

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 Al S THHI 34,000 34,000 0
o SN Y DARAGK XL TE Dy A
500,000& = 4& = 10Al2t 20,000
o MOAII0 OHE HUIS X
70,000m" = 50& = 43| 14,000
2EZ MEGIE =AY 5,166,500 , 721,319 3,445,181
Xl 3,099,899
i 2,066,601
401 A& HIZ 201 I 5,166,500 , 721,319 3,445,181
Xl 3,099,899
s 2,066,601
01 A& HI 4,988,996 ,565, 122 3,423,874
o EEZMHIIASRAAY 4,988,996,000& 4,988,996
Xl 2,993,397
[ia 1,995,599
02 Zeltl 165,000 150,000 15,000
o SHEJMHOIE=ZIAAMNY 2al
165,000,000& * 14 165,000
Xl 99,000
s 66,000
03 Al 2 0HHI 12,504 6,197 6,307
o BEYMHTHISAANY =X
5,001,500,000& = 0.25% 12,504
X 7,502
s 5,002
HE MEHSHE SR ALY 5,175,000 ,916,667 3,258,333
Xl 3,105,000
s 2,070,000
401 Al HI YL =2 Tl 5,175,000 916,667 3,258,333
Xl 3,105,000
[ia 2,070,000
01 Al&H 4,997,475 809,766 3,187,709
o HE MENGHE SR 4,997,475,0008 4,997,475
Xl 2,998,485
e 1,998,990
02 2feldl 165,000 100,000 65,000
o i MEictd S ALY 22
165,000,000 * 14l 165,000
Xl 99,000
e 66,000
03 A& S THHI 12,525 6,901 5,624
o WE MEHGHE =SRAY =T
5,010,000,000& * 0.25% 12,525
X 7,515
e 5,010
== 6,900,475 9,992,865 A 3,092,390
= 3,250,000
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SN QEALTY
M TS
Chel: THoH 22l At (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
< 19,500
[ 3,630,975
ToH 2t el At 6,900,475 9,992,865 A 3,092,390
= 3,250,000
< 19,500
i 3,630,975
Mol &dl KXlzel 134,680 74,080 60,600
< 4,500
e 130,180
201 L2l 50,680 55,080 AN 4,400
02 =224l 50,680 55,080 24,400
<SS sZHMA > 0
o ol &EHl &#Jle3 20,0008 * 13CH » 123 3,120
o Mt Ea 9 XNBALAE 23
250,000& * 104 = 12& 3,000
o =TS AAE 30,000& = 5CH = 123 1,800
o M™M= 2BhA3H(393-3119/392-0709) 22
83,3303 * 204 = 123 2,000
o Mol 2 M=
12,5008 » 163l & = 10 2,000
o A=sSdEE HAIX 23
30,000 * 436 « 1228 1,440
o 4 H3tR= 20,000& = 6CH » 12& 1,440
o ModZE 23 27,7703 = 304 = 12& 1,000
o JHoliHl SHEZ 2XNEE 23
403 * 1,000 = 2753l 11,000
o 23l 3l 1,000, 000& 1,000
< AM&EEUIsXY > 0
o 0 - 2EAAE |22 22,240
= 9,000,000& = 150H * 8% 10,800
-cmap(SEAE2HMEZOY)
26,000,000& * 12% 3,120
- M &HCCTV 13,000,000 * 4CH * 8% 4,160
- A=sSdSEAAE
26,000,000 = 2CH * 8% 4,160
< HZHl > 0
o SEI MadEs 22X HazH]
40,0002 * 4E * 4% 640
401 Al HI & 28I 84,000 19,000 65,000
< 4,500
s 79,500
01 A& HI 84,000 19,000 65,000
o Mol S &2 E WH A
25,000,000& * 3H A& 75,000
o LRI WHMAMZ 9,000,000& 9,000
< 4,500
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EXN: otE2AL D
M THLEHTH
CHRl: THOH 22 ALY (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
| = 4,500
RHoH ol &t At 175,795 242,785 66,990
& 15,000
= 160,795
201 LBt 9H]| 11,955 15,955 A 4,000
01 AP 22| d| 10,955 13,955 A 3,000
< 2Bt ZH| > 0
o Moltidl =22 H&
10,000& = 2& * 100K 2,000
< 2gkH| > 0
o Mitatatal 222 7,000& * 5% * 143¢ 5,005
<2gsy > 0
o WTMEAE HO MASIE 2
70,000 * 5% x 13 350
o ANEMHEESNY HERRA}S EBALE
100,000 * 149 x 23| 2,800
< O=Hl > 0
o moj=3g 100,0009 * 4% 400
o &) AgE3Y 100,000& = 49H 400
03 A2 A H| 1,000 2,000 A 1,000
o Yz 22 H &
5,000& * 2 * 10024 1,000
202 04d| 2,600 2,600 0
01 2L I 2,600 2,600 0
o MolAEE XA otdEA
20,000 *~ 2% % g5 2,600
206 M = Hl 32,500 32,500 0
01 X2 Hl 32,500 32,500 0
o LU YL MUHMEXE 2
2,500,000 * 13=& 32,500
301 LBt A= 1,700 1,700 0
09 SHAIAHI EAZ 1,700 1,700 0
o Mg e nx FIiH & s
34,000 = 50™ 1,700
302 Ol =L THAHE A 2 60,080 30,080 30,000
02 IZtoI oYL =EREdSE A= 60,080 30,080 30,000
o Maolog & =227 2 AHXE
7,0008 * 360Y * 43| 10,080
o MUK S 30,000,000 30,000
o Mol Ssx2F8 FUH
1,600 * 12,5004 20,000
307 QI2t0| ™ 30,000 22,000 8,000
& 15,000
= 15,000
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N2 ;FIH%*IH
CHRl: THOH 22 ALY (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
02 Q2B AMAIE E =X 30,000 22,000 8,000
o ELHEE 30,000,000& 30,000
= 15,000
= 15,000
401 A& HI L 2 0HHI 36,960 137,950 A 100,990
01 Al&H| 36,960 137,950 A 100,990
o MHolS=se? SHXK(CIAH])
84,000& = 40 * 110024 36,960
LS AIE HHIAIY 40,000 106,000 A 66,000
401 Al HI L £ 0HHI 40,000 106,000 A 66,000
01 Al& H| 40,000 106,000 A 66,000
o LSHiSAIEZH ALY
2,500,000& * 160 £ 40,000
Mol /I& X+ HBIAY 6,500,000 9,508,000 A 3,008,000
= 3,250,000
= 3,250,000
401 AlEH|IZL 2 0HY| 6,500,000 9,508,000 A 3,008,000
= 3,250,000
= 3,250,000
01 Al& b 6,485,000 9,484,000 A 2,999,000
o MAHASE K2 ZH AL (LXK F 2.17km)
5,990,000,000& * 14 5,990,000
= 3,000,000
= 2,990,000
o MOl YAASE XY HUIALS
495,000,000 * 1A 495,000
= 250,000
= 245,000
03 AlE 2 0HH| 15,000 24,000 A9,000
o THOHRAE X P HHIAMA(SEXF)
10,000,000< 10,000
o MOl YAASE XY HUIALS 5,000,000& 5,000
SIMEIMEZHA 50,000 62,000 A 12,000
401 Al EHI L 204 50,000 62,000 A 12,000
03 Al 201 Y| 50,000 62,000 A 12,000
o SIMEINESSE &Yl LI
500,000& = 2= * 50Al 2t 50,000
HHSHAY (AL ) 158,658 159, 111 AN 453
A 2AH| 139,830 141,147 A1,317
oled A | 46,803 48,120 A1,317
101 21 21d| 46,803 48,120 N 1,317
01 = 46,803 48,120 A1,317
< =g > 0
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SN QEALD
M HE2GFY (M HA )
chel el 2l A HH)
SA - ZE-B(EN) - NRAY - B S il &t o il
o A2t 2 S A2
91773 « 17H = 25A12F « 128 46,803
222 A 93,027 93,027 0
101 @124 dl 93,027 93,027 0
ESIPEESIERS 93,027 93,027 0
o =2 1,030,400& » 3¥ » 128 37,095
o &3 1,030,400& = 3H * 400% 12,365
o FZ2=Y 1,030,400& » 3F » 50% * 23] 3,092
SEPSEP Falls] 37,094,400& = 1.7% 631
o HI2E Itz 50,000& = 3% = 123 1,800
o HESFIHl  1,030,400& * 3% * 60% » 23l 3,710
o galll 100,000& » 3¥ » 128 3,600
o sl 60,0003 = 3% » 123 2,160
o FEXY(BHE2ESY)
50,0003 = 3% =~ 123 1,800
o JIAEZSY 110,000& » 3¥ » 128 3,960
o MG 80,000& = 3¥% =~ 123 2,880
o IHEY 3,840
- X 40,0003 = 3% » 123 1,440
- JIEtIt=E 20,000& = 10¥ = 123 2,400
o it A&Z
1,030,400 * 3 * 1/24A12+ * 15 1,932
o FREY 51,5203 = 3% » 52¢ 8,038
o N2t 28Y
7,395% * 3" x 23AI2t » 123 6,124
Jl23 4l 18,828 17,964 864
JI23l 18,828 17,964 864
201 LBH2E| 14,628 13,764 864
01 At 2t 2l 14,468 13,604 864
< LBk=2Hl > 0
o SAMEXN 7L 25,0003 = 2529FA x 43| 2,500
o HUFAI 223 7Y 3,112
- £ 500,000& = 23l 1,000
- Bl 176,000& = 2CH = 63l 2,112
o dloldZel EY +¢
250,000 = 4CH = 43 4,000
o WA Bl 2£Y 118,000& » 1CH = 23l 236
o F=J| dlEyl 55,000& = 12& 660
o JIEt AIRES 12,000& * 398 = 23| 936
o MER=ER 3,024
- 32X 18,000 * 4% = 12& 864
- XX 15,000& » 128 = 128 2,160
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